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/* Demonstrates a simple function */
#include <stdio.h>

long cube(Tong x);

long input, answer;

main()

{

o1 B W N =

6 printf("Enter an integer value: ");

7 scanf("%d", &input);

8: answer = cube(input);

9: /* Note: %1d is the conversion specifier for */

10: /* a long integer */

11: printf("\n\nThe cube of %1d is %1d.", input, answer);
}

12: long cube(long x)
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13: |

14: long x_cubed;

15: x_cubed = x * x * x;
16: return x_cubed;

17: }
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funcl ()
{
}

main ()
{
call funcl&é

call func2g

k\

call funcB\

func2 ()
{
}

func3 ()
{
}
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1'XRpP130 NN

qeow ma ww L(function header) moxpaIen nans X073 P¥PND 932 ANWRIT W
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type funcname(parmd,...)

J17'XP119 IIMD 20 022NN W70 .6.3 MR

1'X;711971 *T" JU 7 7101 O19°0
777N PRPNDIYW N7 DIDW DR T TPIPN0T 0T 0¥ (return type) armns opnn
Jong .int ,char :C-2 210177 *019%0n 70X 93 NYa2 130 Ammna 019°0I NRMNMPI N%10NY
DR ITAT LT PN L7 AT APRY OXPND TR a3 10 ank .double w [ float

:NIRANIT 720 737 .void-2 rmnn 1wa

int funcl(...) /* returns a type int. */
float func2(...) /* returns a type float. */
void func3(...) /* returns nothing. */

1'X,71159,77 OWw
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long cube(Tong x)
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void funcl(int x, float y, char z)

)y Xpaa float 0wvun X R int 01907 DPLIMAIR JYOW T W PRPND TN
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:void 212 N1 N ownaed

void func2(void)
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70°10 RYT (parameter) =awnnD LImaIRY unID P MInaRD ¥aua 2% xu oy
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/* Illustrates the difference between arguments and */
/* parameters. */

#include <stdio.h>
float x = 3.5, y = 65.11, z;

float half of(float k);
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main()

{
/* In this call, x is the argument to half of(). */
z = half of(x);
printf("The value of z = %f\n", z);

/* In this call, y is the argument to half of(). */
z = half of(y);
printf("The value of z = %f\n", z);

float half of(float k)

{
/* k is the parameter. Each time half of() is called, */
/* k has the value that was passed as an argument. */

return (k/2);
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N78P1197 NNWRIT RPN z=half of (x);
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float half of (float k)

"3pNg? 17100 NIRMPA z=half of (y);
65.11

float half of (float k)
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int funcl(int y)
{
int a, b = 10;
float rate;
double cost = 12.55;
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/* Demonstrates local variables. */
#include <stdio.h>

int x =1, y = 2;

void demo(void);

main()

{
printf("\nBefore calling demo(), x = %d and y = %d.", x, y);

demo();
printf("\nAfter calling demo(), x = %d and y = %d.", X, y);

void demo(void)
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/* Define and initialize two local variables. */
int x = 88, y = 99;
/* Display their values. */

printf("\nWithin demo(), x = %d and y = %d.", x, y);
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Before calling demo( ), x = 1 and y = 2.
Within demo( ), x = 88 and y = 99.
After calling demo( ), x =1 and y = 2.
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int funcl(int var)

{

int x;
return x;
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/* Demonstrates using multiple return statements */
/* in a function. */

#include <stdio.h>
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int x, y, z;
int larger of( int a, int b);

main()

{

puts("Enter two different integer values: ");
scanf ("%d%d", &X, &Y);

z = larger of(x,y);

printf("\nThe Targer value is %d.", z);

int larger of( int a, int b)
{
if (a > b)
return a;
else
return b;
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n'3pPn9n nama void funcl(int x, int y, int z)
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x = half(third(square(half(y))));
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wait(12);
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printf("Half of %d is %d.", x, half of(x));
y = half of(x) + half of(z);
if ( half _of(x) > 10 )
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/* Demonstrates function recursion. Calculates the */
/* factorial of a number. */

#include <stdio.h>

unsigned int f, x;
unsigned int factorial(unsigned int a);

main()

{

puts("Enter an integer value between 1 and 8: "); scanf("%d", &X);
f = factorial(x);

printf("%u factorial equals %u", x, f);

unsigned int factorial(unsigned int a)
{
if (a == 1)
return 1;
else
{
a *= factorial(a-1);
return a;

}
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/* start of source code */
prototypes here
main ()
{
}

funcl ()
{

}
func?2 ()

{

}
/* end of source code */
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int twice(int y);
{
return (2 * y);

}
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